Ratio to ATLAS

1074

107

0.5

sum E_ [GeV]

7000 GeV pp Underlylng Event
_l | Tt T T T T T | Tt T T T T | |_4(Q
-
Sum ET (3.2 < | < 4.0, P> 0.5(0.2) GeV, E‘Tl‘2 > 20 GeV, [*?] < 2.—5%
= ==
= =<
— o
B N
)
=, n n - =
— H =™
— 1o
| m .=
—— __m

. =
= =
— m
<
— 1M
| 1S
= 350
— =M™
[ —]
— .=
n Bt
E_ - Herwig++ 2.7.0 default _E %
~  --3-- Herwig 7.2.0 default 2
| —¥— Herwig 7.2.0 softTune | | 3
- =k
B 1
— — 0
SIS I R EU A AU A IS =
— —2
1

L —0.5
| " 1 1 1 1 " | " 1 1 1 1 | " 1 1 1 1 | " 1 " 1 " 1 " 1 "
0 ) 10 15 20



	Contents
	Page 1


